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A U tube manometer shown in figure is used to measure the gauge pressure of water of
density p; = 1000 kg/m?3. If the density of manometer liquid p, is 12000 kg/m3, hl = 0.5 m

& h2 = 1.0 m, gauge pressure at ‘A’, the centre of tube is (take g = 10 m/s2)

Water, density = 1000 kg/m*

/‘ Manometer liquid, density = 12000 kgim®

ANNNY
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h2\
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(a) 125 kPa (b)" 115 kPa
(c) 60 kPa @y |5 kPa

A man draws 3 balls from a jug containing 5 white balls and 7 black balls. He gets Rs. 20 for
each white ball and Rs. 10 for each black ball. What is his expectation?

(a) Rs.21.25 (IN"Rs. 42.50
() Rs. 31.25 (d) Rs.45.21

The missing dimension in the following simple part is

LABEL POINT B MISSING
DISTANCE
1141
0 18
17 _y T 17 T
A
B
LABEL POINT A —
+1
57,
(a) 115+ 1.5 (b) 11.56+25
(© 11.5+35 d) 11.5+45
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60.  The type of locator used to prevent jamming during locating of a work piece is
(a) concentric locator
(b) integral locator
(c) equilateral locator

(d)  spherical locator

61. A carton carrying vessel of mass 10 tons (width = length = 5 m, height = 6 m), floats on
water. The mass of contents of the vessel are symmetrically placed. If the vessel tilts by 0.01
radians by moving a 50 kg carton from the centre by a distance of 2 m towards side in
horizontal direction, the metacentric height of the vessel is (g = 10m/s?)

(a) 1m (b) 3m
(c) 1.5m (d 2m
62.  The maximum value of reduction in rolling process is
(a) g[l - cozs a:l (b) g[l —cos a]
i D .
(© D(1-sin a) (d) = [1 —~sing]

Where ‘D’ is roll diameter and ‘o’ is the angle of bite

63.  Which of the following is TRUE for vibration of a mechanical system

(a)  Damping ratio (&) is the ratio of the critical damping to the actual damping

(b)  The damping can be obtained from the response of the system under forced vibration
using logarithmic decrement method

(c) For damped mechanical systems, the amplitude of vibration tends to become infinity
when excitation frequency (@) reaches the system’s natural frequency (@,)

(d) Amplitude ratio and transmissibility of a vibration isolator is unity when the

frequency of exciting force is /2 times the natural frequency
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